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1.1 AT+CGMI
Read manufacture identification
AT+CGMI= OK
AT+CGMI
ZTE
OK
+CME ERROR:<err>
07.07

1.2 AT+CGMM

Request model identification Model
AT+CGMM=? OK
AT+CGMM

Mz28

OK

+CME ERROR:<err>

07.07

1.3 AT+CGMR

Request revision identification

AT+CGMR= OK
AT+CGMR
<revision>
OK
+CME ERROR:<err>
<revision> MZ28VXx.yy.zz MZ28Vv1.00.00
07.07
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1.4 AT+CGSN
Request product serial number identification IMEI
AT+CGSN OK
AT+CGSN
<sn>
OK
+CME ERROR:<err>
<sn> IMEI
07.07
1.5 AT+CSCS
Set TE character set TE
AT+CSCS=? ME
+CSCS: (list of supported <chset>s)
OK
AT+CSCS? TE
+CSCS: <chset>
OK
AT+CSCS=<chset TE
> OK
+CME ERROR:<err>
<chset> “GSM” GSM GSM Default Alphabet
“UCS2" 16bhit Unicode
07.07
CSCs
7hit chset=USC2 IRA
1.6 AT+CIMI
Request international mobile subscriber identity IMSI
AT+CIMI=? OK
AT+CIMI (IMS)
<IMSI>
OK
AT 7/64 2003 1

ZX673.01.1001QE.A

V10




LTEPH

AT

+CME ERROR:<err>

<IMSI> IMSI
07.07

1.7 AT+CCLK

AT+ CCLK =? OK

AT+ CCLK?

+ CCLK: yy/mm/dd,hh/mm/ss
OK

+CME ERROR:<err>

AT+CCLK=<time >

OK

+CME ERROR:<err>

<time> yy/mm/dd,hh/mm/ss

yy 00 99 2000 2099
mm
dd
hh 24
mm
ss
,hh/mm/ss
yy/mm/dd
07.07
1.8 AT+GCAP
Request Complete Capabilities List
AT+ GCAP =? OK
AT+GCAP Mz28 +CGSM
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+GCAP :+CGSM
+CME ERROR:<err>
07.07
1.9 A/
Repeat previous command line
A/
V.25ter
2.1 AT+CPAS
Phone activity status ME
AT+CPAS= <pas>
+CPAS: list of supported <pas>s
OK
+CME ERROR:<err>
AT+CPAS ME
+CPAS:<pas>
OK
+CME ERROR:<err>
<pas> 0 ready
2 unkown
3 ringing(incoming call)
4  callin progress
07.07
2.2 AT+CMEE
Report Mobile Equipment error
AT+CMEE=" <n>
+CMEE: (list of supported <n>s)
OK
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AT+CMEE?
+CMEE: <n>
OK
AT+CMEE=<n>
OK
<n> 0 error
1
2
07.07
7.07 9.2 +CME ERROR
2.3 ATV
DCE response format
ATV[<value>]
OK
+CME ERROR:<err>
<value>0 AT
<text><CR><LF>
< ><CR>
1 AT
<CR><LF><text><CR><LF>
<CR><LF>< ><CR><LF>
value=1
V.25
2.4 ATE
Trigger Command Echo
ATE OK
ATE<n>
OK
<n> 0
1
V.25ter
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25 ATZ

Load stored profile

ATZ

MZ28 NVRAM

OK

+CMEE: <n>
OK

non-volatile memory.

V.25ter

MZ28 NVRAM

NVRAM
AT&W

VvV, E, SO
+CNMI
+CMEE
+CREG
+CMGF
+CLIP
+CAOC
+CPBS
+CBST
+CRLP
+CR
+CRC

AT

2.6 AT&F

Load factory default profile

AT&F

OK

V.25ter

vV 1, E 0, SO O
+CNMI 2 1 0 0 O
+CMEE O

+CREG 1

+CMGF O

+CLIP O

AT
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+CAOC 0
+CPBS 2
+CBST:7,0,1
+CRLP:61,61,48,6
+CR:0

+CRC:0

2.7 AT&V

Display current profile

AT&V

Active Profile :
E:O

V:1

S0:0
+CNMI:2,1,0,0,0
+CMEE:0
+CSMS:0,1,1,1
+CREG:1
+CLIP:0
+CMGF:0
+CAQOC:0
+CPBS:2
+CBST:7,0,1
+CRLP:61,61,48,6
+CR:0

+CRC:0

OK

V.25ter

2.8 AT&W

Write current profile to stored profile

AT&W

MZ28
OK

V.25ter

ATZ

AT
ZX673.01.1001QE.A

12/64

2003

1
V10




LTEPH

AT

3

3.1 ATD

Dial Command

ATD<str>[;]

OK

CME ERROR

NO DIALTONE

BUSY

NO CARRIER

%NO CARRIER

%BUSY

%ALERTING

<err>

%QUEUED
%FORWARED
<str>:
9
GSMO07.07/ 1 20
V.25TER/ 2 Lo
GSMO02.30 3 <str> <str>
4 OK
3.2 ATD>
Direct dialling from phonebooks
‘ ATD><str>[;] |
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ATD>mem<n>[;]
ATD><n>[;] OK
CME ERROR  <err>
NO CARRIER
[l
<str>:
<n>:
mem
OK
GSMO07.07/
V.25TER/
GSMO02.30
3.3 ATDL
Redial last telephone number used
ATDL
ATD
OK
GSMO07.07/V.25TE
R/GSM02.30
3.4 ATA
Answer a call
ATA
OK
NO CARRIER
V.25ter ATA RING
+CLIP
NO CARRIER
3.5 ATH
Disconnect existing connection
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OK

V.25ter

NO CARRIER,%BUSY,

ATH

3.6 AT ZCIND

Call Realease Indication

AT ZCIND =7 <n>
%ZCIND:(0,1)
OK

AT ZCIND? <n>
ZCIND:<n>
OK

AT ZCIND =<n> <n>
OK

+CME:ERROR <err>
<n>=1

CARRIER,%BUSY

%ZCIND:<event>[,<idx>]

NO CARRIER, BUSY,%NO

%QUEUED,%FORWARDED

<n> 0
1
<event>
0
1
2
3
4
<idx> +CLCC, <idx> O
ZTE
3.7 AT+VTS
DTMF and tone generation DTMF
AT+VTS=? +VTS: (list of supported <dtmf>s
OK
AT+VTS=<dtmf> | DTMF
AT 15/64 2003 1
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AT
OK
+CME ERROR <err>
<dtmf> ASCII 0~9 * # A B C D
1
GSMO07.07/v.25ter 2 <dtmf> AB,C,D
3.8 AT+CMUT
Mute control
AT+CMUT=? <n>
+CMUT: (list of supported <n>s)
OK
AT+CMUT?
+CMUT: <n>
OK
AT+CMUT=<n>
OK
+CME ERROR: <err>
<n> 0 1
GSMO07.07
3.9 AT+CLVL
Loudspeaker volume level
AT+ CLVL =7
+CLVL: (list of supported <level>s)
OK
AT+ CLVL?
+CLVL=<level>
OK
AT+ CLVL =< level >
OK
level
ERROR
<level> 1 2
AT 16/64 2003 1
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AT
| 07.07 |
3.10 AT+CEER
Extended error report
AT+CEER=? OK
AT+CEER
+CEER:<dir>,<cause>0OK
OK
<dir>
0
1
<cause>
0
1
2
3
4
5
6
7
8
11
12 FDN
13
14 Aoc ACM ACMMax
15
16
17
GSMO07.07
3.11 ATSO
Set number of rings before automatically answering the call
ATS0=?
SO0:(list of supported <n>s)
OK
ATSO0?
SO0 <n>
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AT
OK
ATSO =<n >
OK
n
ERROR
<n> 0-255
n=0
V.25TER

4

4.1 AT+CNUM

Subscriber number

AT+CNUM=? | OK
AT+CNUM
+CNUM:[<alphal>],<numberl> <typel>[,<speed>,<service>[,<itc>]|
<CR><LF>+CNUM:[<alpha2>],<number2>,<type2>[,<speed>,<servic
e>[,<itc>]][......... 1l
OK
+CME ERROR:<err>
<alphax> number
<numberx>
<typex>
<service> 4 \Voice
<itc>
<speed>
07.07
4.2 AT+COPS
Operator Selection
AT+COPS=
+COPS: [list of supported (<stat>,long alphanumeric <oper>,short
alpha numeric <oper>s,numeric <oper>)s][..( list of
supported<mode>s),( list of supported<format>s)]
OK
AT 18/64 2003 1
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+CME ERROR:<err>
AT+COPS?
+COPS <mode>[,<format>,<oper>]
OK
+CME ERROR:<err>
AT+COPS=
[<mode>[,<form | OK
at>[,<oper>]]]
+CME ERROR:<err>
<mode>0 <format><oper>
1 <format><oper>
3 <format>

<format>
4 manual/auto.

<format> 0 long format alpha <oper> up to 16 character;
1 short format alpha <oper>, up to 8 character;
2 numeric <oper> (MCC+MNC)
<stat> 0 unkown
2 current
3 forbidden
07.07
<stat> available available
4.3 AT+CPOL
Preferred operator list
AT+CPOL=? SIM <index>s <format>s
+CPOL:( list of supported <index>s),( list of supported <format>s)
OK
+CME ERROR:<err>
AT+CPOL? SIM

+CPOL <index1><format>,<operl>[<CR><LF>
+CPOL:<index2>,<format>,<oper2>[...]]
OK

+CME ERROR:<err>

AT+CPOL=[<ind

ex>][ <format>[ | OK

<oper>]]

AT 19/64 2003 1
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+CME ERROR:<err>
<index> SIM
<format> <oper> +COPS
07.07
AT+CPOL=
[<index>][ <format>][ <oper>]]
1 <index> <format>  <oper>
<index>
2 <oper> <index> SIM
<index>
3. <format>
4 <index>
index
<index> 1 2
4.4 AT+COPN
Read operator names
AT+COPN=? OK
AT+COPN ME
+COPN:<numericl>,<alphal>[<CR><LF>+COPN:
<numeric2>,<alpha2>[...]]
OK
+CME ERROR:<err>
+COPS
07.07
4.5 AT+CREG
Network registration
AT+CREG=? <n>s
+CREG (list of supported <n>)
OK
AT+CREG?
+CREG <n><stat>[,<lac><ci>]
OK
+CME ERROR:<err>
AT+CREG=[<n>]
AT 20/64 2003 1
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OK
+CME ERROR:<err>
<n> 0
1
<stat> O ME
1
2 ME
3
4 unknown
5
6
<lac
<ci >
07.07
<stat>=6
4.6 AT+CSQ
Signal quality
AT+CSQ=" <rssi><ber>
+ CSQ: (list of supported <rssi>s),( list of supported <ber>s)
OK
AT+CSQ
+ CSQ:<rssi>,<ber>
OK
+CME ERROR:<err>
<rssi> 0 -113dBm or less
1 -111dBm
2-30 -109...-53dBm
31 -51dBm or greater
<ber> O0.... 7
07.07
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5

51 AT+CLCK

Facility lock

AT+CLCK = <fac>s
+CLCK (list of surpported <fac>s)
OK
+CME ERROR:<err>

AT+CLCK <mode>=2

=<fac>,<mode>[,<pa
ssword>,<class>]]

OK

+CME ERROR:<err>

+CLCK:<status>[<CR><LF>+CLCK: <status>[........ 1l

o

<mode>

<status> 0 not active
1 active
<fac> "PS” SIM
"SC” PIN
"AQ"
"ol
"OX” PLMN

NG
"IR” PLMN
“AB”
“AC”
“AG
"PN”

<class> 1 voice

07.07

1 +CLCK +CPIN
+CLCK=<fac>,<mode>,<pwd>
<fac>="PS”,”"PN","SC"
+CPIN=<pin>

+CPIN PH-NETPIN +CPIN: SIM PIN

+CLCK=<fac>,<mode>,<pwd>

+CPIN? +CPIN PH-SIM PIN

AT
ZX673.01.1001QE.A
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+CPIN?
+CPIN :READY
2 +CLCK=<fac><mode><pwd> <class>(<class>=1)
<class>
3 +CLCK="PS"/"PN",2 +CME ERROR: 23
memory failure. SIM
5.2 AT+CPWD
Change password
AT+CPWD="? <fac>,<pwdlength>s
+CPWD: list of supported (<fac>s,<pwdlength>s)
OK
+CME ERROR:<err>
AT+CPWD
=<fac>,<oldpwd>, | OK
<newpwd>
+CME ERROR:<err>
<fac> +CLCK
07.07
+CPWD  +CPIN +CPWD
+CPWD
5.3 AT+CPIN
Enter pin
AT+CPIN=? OK
AT+CPIN? <code>
+CPIN <code>
OK
+CME ERROR:<err>
AT+CPIN=<pin>[,
<newpin>] OK
+CME ERROR:<err>
<code> READY
AT 23/64 2003 1
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SIM PIN PIN
SIM PUK PIN
PH-SIM PIN SIM
SIM PIN2 PIN2
SIM PUK2 PIN2
PH-NET PIN
07.07
1 +CPIN? +CPIN : SIM PIN
1 +CLCK
PIN
+CPIN?
+CPIN: READY
2 +CPIN? +CPIN: SIM PIN
AT +CPIN AT ERROR.
PIN PIN
3 SIM PUK
6
6.1 AT+CPBS
Select phone memory storage
AT+CPBS=? <storage>
+CPBS (list of supported <storage>s)
OK
AT+CPBS?
+CPBS:<storage>[,<used>,<total>]
OK
+CME ERROR:<err>
AT+CPBS=<storage>
OK
+CME ERROR:<err>
<storage> “LD” (SIM)
“MC”
“RC”
“ON”
“ME” NVRAM
AT 24/64 2003 1
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“SM” SIM
<used>
<total>
07.07 +CPBS=<LD> <MC> <RC> +CPBS?
<used>. :+CPBS: “LD”,,<total>
6.2 AT+CPBR

Read phonebook entries

AT+CPBR=?

+CPBR (list of supported <index>s),[<nlength>],[<tlength>]
OK

+CME ERROR:<err>

AT+CPBR=<index
1>[,<index2>]

<index1> <index2>
[+CPBR:<index1>,<number>,<type><text>[[...]<CR><LF>+CPBR
:<index2>,<number>,<type><text>]]
OK

+CME ERROR:<err>

07.07
<nlength> <number>
<tlength> <text>
1 <index2>  <index1> <index2>
<index1>; <index1> <index1>

<number>,<type>,<text>.
2 +CSCS="GsSM™"
+CPBR=<index>,"1111",129,™
+CSCS="UCS2" GSM UCs2

6.3 AT+CPBW

Write phonebook entry

AT+CPBW=
+CPBW (list of supported <index>s),[<nlength>], (list of
supported <type>s),[<tlength>]
OK
+CME ERROR:<err>
AT 25/64 2003 1
ZX673.01.1001QE.A V1.0




LTEPH

AT

AT+CPBW=[<index>][,<
number>[,<type>[,<text | OK
>]1]

+CME ERROR:<err>

+CPBR
07.07
1 <index>, <number> <number>
free

2 <index> <index>

3 <index>,<number>, <type>,<text> <index>

1 +CPBS="ON"

+CPBW=<index>
2 +CPBS="ME" <index>
+CJPBW=,"111111",129,"abc”
+CPBW=<index>,"111111",129,"abc”
3 +CPBS="MC","RC","LD”,
4 +CSCS="GSM”
+CSCS="UCSs2" GSM UCs2

6.4 AT+CPBF

Find phonebook entries

AT+CPBF=?

+CPBF:[<nlength>],[<tlength>]
OK

+CME ERROR:<err>

AT+CPBF=<findte
Xt>

<findtext>
+CPBF:<index1><number> <type><text>
OK

+CME ERROR:<err>

<findtext> <text>

07.07
1 +CPBS="ME” +CPBS="SM"
"ME”,"SM” +CPBS="MC”"
+CPBS="LD” +CPBS="RC”"

2 +CSCS="GSM" <findtext> GSM UCs2

+CSCS="UCS2" <findtext>

AT 26/64 2003 1
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| | GSM UCS?2
6.5 AT%CPBF
Find phonebook entries
AT%CPBF=?
OK
+CME ERROR:<err>
AT%CPBF=<find < findDialNum >
DialNum> %CPBF: <text>
OK
+CME ERROR:<err>
<findDialNum> <number>
07.07
7.1
<index>
<alpha> +CSCS
<da> GSMO03.40 TP-Destination-Address +CSCS
<data> GSM 03.40 TP-User-Data
a) <dcs> GSM 03.38 default alphabet <fo> UDHI:
1) +CSCs TE "HEX” ME  GSM alphabet
TE
2) +CSCS TE "HEX” ME GSM alphabet
7bit IRA
b) <dcs> 8hit UCS2 <fo> UDHI ME
GSM alphabet 8hit IRA
GSM 03.41 CBM
a) <dcs> GSM 03.38 default alphabet
1) TE +CSCS "HEX” ME GSM alphabet
2) TE +CSCS "HEX” ME GSM alphabet
7bit IRA
b) <dcs> 8hit UCS2 ME GSM alphabet 8hit
AT 27/64 2003 1
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IRA
<dcs> GSM 03.38 SMS (default 0),
<dt> GSM 03.40 TP-Discharge-Time yy/IMM/dd, hh:mm:ss+zz”
A : - =
<fo> GSM 03.40 SMS-SUBMIT 17 , SMS-DELIVER,
SMS-STATUS-REPORT, SMS-COMMAND( 2)
<length> TEXT (+CMGF=1) <data> PDU
(+CMGF=0) TPDU
<mid> GSM 03.41 CBM Message Identifier
<mr> GSM 03.40 TP-Message-Reference
<oa> GSM 03.40 TP-Originating-Address +CSCS
<page> GSM 03.41 CBM Page Parameter 4-7bit
<pages> GSM 03.41 CBM Page Parameter 0-3bit
<pdu> GSM 03.40 PDU SMS-DELIVER, SMS-DELIVER-REPORT,
SMS-SUBMIT, SMS-SUBMIT-REPORT, SMS-STATUS-REPORT,
SMS-COMMAND
<pid> GSM 03.40 TP-Protocol-ldentifier ( 0)
<ra> GSM 03.40 TP-Recipient-Address +CSCS
<sca> GSM 04.11 RP SC address +CSCS
<scts> GSM 03.40 TP-Service-Centre-Time-Stamp <dt>
<sn> GSM 03.41 CBM Serial Number
<st> GSM 03.40 TP-Status
<toda> GSM 04.11 TP- Destination-Address Type-of-Address <da>
"+" 145 129
<tooa> GSM 04.11 TP-Originating-Address Type-of-Address
<toda>
<tora> GSM 04.11 TP-Recipient-Address Type-of-Address <toda>
<tosca> GSM 04.11 RP SC address Type-of-Address <toda>
<vp> GSM 03.40 TP-Validity-Period SMS-SUBMIT  <fo>
( 167) ( <dt>)
7.2 AT+CSMS
Select Message Service
AT+CSMS=? :
+CSMS: (list of supported <service>s)
OK
+CMS ERROR:<err>
AT+CSMS? ME
+CSMS:<service>,<mt>,<mo>,<bm>
OK
AT 28/64 2003 1
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+CMS ERROR:<err>

AT+CSMS=<service> SMS ,

+CSMS:<mt><mo>,<bm>
OK

+CMS ERROR:<err>

<service> 0 Phase 2

128
<mt> 0 ME
1 ME
<mo> 0 ME
1 ME
<bm> 0 ME
1 ME
GSMO07.05
7.3 AT+CPMS
Preferred Message Storage
AT+CPMS=? :
+CPMS:(list of supported <meml1>s),(list of supported
<mem2>s),(list of supported <mem3>s)
OK
+CMS ERROR:<err>
AT+CPMS?
+CPMS:<mem1>,<usedl1><totall>,<mem2>,<used2><total2
> <mema3>,<used3><total3>
OK
+CMS ERROR:<err>
AT+CPMS=

<mem1>[,<m
em2>[,<mem
3>]]

+CPMS:<usedl1><totall1>,<used2>,<total2>,<used3>,<total3

>
OK

+CMS ERROR:<err>

<mem1>

“SM”  SIM
<memz2>

“SM”  SIM

AT
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<mem3>
“SM”  SIM
<usedl> <mem1>
<used2> <mem2>
<used3> <mem3>
<totall> <mem1>
<total2> <mem2>
<total3> <mem3>
GSMO07.05 <mem1> +CMGL +CMGR +CMGD
<memz2> +CMSS +CMGW
<mem3>
7.4 AT+CMGF
Message Format
AT+CMGF=? :
+CMGF:(list of supported <mode>s)
OK
+CMS ERROR:<err>
AT+CMGF?
+CMGF:<mode>
OK
+CMS ERROR:<err>
AT+CMGF=[<mode>] ,
OK
+CMS ERROR:<err>
<mode> 0 PDU
1 TEXT
GSMO07.05
7.5 AT+CSCA
Service Center Address
AT+CSCA="? OK
AT+CSCA?
+CSCA:<sca>,<tosca>
OK
AT 30/64 2003 1

ZX673.01.1001QE.A

V10



LTEPH

AT
+CMS ERROR:<err>
AT+CSCA=<sca>[,<tosca>] SM ,
OK
+CMS ERROR:<err>
GSMO07.05
7.6 AT+CSMP
Set Text Mode Parameters
AT+CSMP=? OK
AT+CSMP?
+CSMP:<fo>,<vp>,<pid>,<dcs>
OK
+CMS ERROR:<err>
AT+CSMP=[<fo TEXT
>[,<vp>]pid>[,<
des> OK
+CMS ERROR:<err>
<fo> SMS-SUBMIT 17 49
<vp> SC <fo>
(0-255) 167(24 )
<pid> Protocol-Identifier 0
<dcs> 0 0-31
GSMO07.05
03.40
03.38
7.7 AT+CSDH
Show Text Mode Parameters
AT+CSDH="?
+CSDH:(list of supported <show>s)
OK
+CMS ERROR:<err>
AT+CSDH?
+CSDH:<show>
AT 31/64 2003 1
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OK

+CMS ERROR:<err>

AT+CSDH=<show> TEXT
OK

+CMS ERROR:<err>

<show> 0 +CMGR +CMGL +CMT
+CSCA +CSMP
<sca> <tosca> <fo> <vp> <pid>

<dcs> <length> <toda>/<tooa>
1
GSMO07.05

7.8 AT+CSCB

Select Cell Broadcast Message Types

AT+CSCB="?
+CSCB:(list of supported <mode>s)
OK
+CMS ERROR:<err>

AT+CSCB?
+CSCB:<mode>,<mids>,<dcss>
OK
+CMS ERROR:<err>

AT+CSCBe[

<mode>[,<mid | OK
s>[,<dcss>]]]
+CMS ERROR:<err>

<mode> 0 <mids> <dcss>
1 <mids> <dcss>
<mids> <dcss>
GSM07.05
<dcss> “0 1
AT 32/64 2003 1
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7.9 AT+CNMI
New Message Indications to TE
AT+CNMI="
+CNMI:(list of supported <mode>s),(list of supported
<mt>s),(list of supported <bm>s),(list of supported <ds>s),(list
of supported <bfr>s)
OK
+CMS ERROR:<err>
AT+CNMI?
+CNMI:<mode>,<mt>,<bm>,<ds>,<bfr>
OK
+CMS ERROR:<err>
AT+CNMI=[<

mode>[,<mt>[
,<bm>[,<ds>[,
<bfr>1]1]

OK

+CMS ERROR:<err>

<mode>

N

TA-TE
TA TE
TA-TE
TE

<mt>

I~

SMS-DELIVER
+CMTIl:<mem>,<index>
2 SMS-DELIVER( class2 )
TE
PDU
+CMT:[<alpha>],<length><CR><LF><pdu>
TEXT

+CMT:.<o0a>,[<alpha>],<scts>[,<tooa>,<fo>,<pid
> <dcs>,<sca><tosca><length>]<CR><LF>
<data> ( +CSDH)

class 2 <mt>=1

3 class 3 SMS-DELIVER <mt>=2
<mt>=1

AT
ZX673.01.1001QE.A
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<bm>
0
2 TE
PDU
+CBM:<length><CR><LF><pdu>
TEXT
+CBM:<sn>,<mid><dcs><page>,<pages>
<CR><LF>
<data>
<ds> SMS-STATUS-REPORT
0
1 SMS-STATUS-REPORT TE
PDU
+CDS:<length><CR><LF><pdu>
TEXT
+CDS:<fo>,<mr>,[<ra>],[<tora>],<scts><dt>,
<st>
2 SMS-STATUS-REPORT ME/TA
TE
+CDSI: <mem>,<index>
<bfr> <mode>=1,2,3 buffer
0 TE
1

GSM07.05

7.10 AT+CMGL

List Message

AT+CMGL=?
+CMGL.:(list of supported <stat>s)
OK
+CMS ERROR:<err>
AT+CMGL[=
<stat>] TEXT +CMGF=1
SMS-SUBMIT  SMS-DELIVER
+CMGL:<index>,<stat>,<oa/da>,[<alpha>],[<scts>]
[,<tooal/toda>,<length>]<CR><LF><data>[<CR><LF>
+CMGL:<index>,<stat>,<da/oa>,[<alpha>],[<scts>]
AT 34/64 2003
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[,<tooal/toda>,<length>]<CR><LF><data>[...]]
OK
PDU +CMGF=0
SMS-SUBMIT  SMS-DELIVER
+CMGL:
<index><stat>,[<alpha>],<length><CR><LF><pdu>
[<CR><LF>

+CMGL:<index>,<stat>,[<alpha>],<length><CR><LF><pdu>

[..]]
OK

+CMS ERROR:<err>

<stat>
PDU
0
1
2
3
4
TEXT
“REC UNREAD”
“REC READ”
“STO UNSENT”
“STO SENT”
“ALL"
GSMO07.05
7.11 AT+CMGR
Read Message
AT+CMGR=? OK
AT+CMGR=<index> +CPMS
TEXT (+CMGF=1)
SMS-DELIVER:
+CMGR:<stat>,<o0a>,[<alpha>],<scts>[,<tooa>,<fo>,<p
id>,<dcs>,<sca>,<tosca><length>]<CR><LF><data>
OK
SMS-SUBMIT:
AT 35/64 2003
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+CMGR:<stat>,<da>,[<alpha>][,<toda>,<fo>,<pid>,<d
cs>,[<vp>],<sca>,<tosca>,<length>]<CR><LF><data>
OK

PDU (+CMGF=0)

+CMGR: <stat>,[<alpha>],<length><CR><LF><pdu>
OK

+CMS ERROR:<err>

GSMO07.05

7.12 AT+CMGS

Send Message

AT+CMGS=? OK

TEXT ME <mr>
+CMGF=1 :

AT+CMGS=<da> | +CMGS:<mr>

[,<toda>]<CR> OK

Text is entered
<ctrl-Z/ESC>

PDU

+CMGF=0
AT+CMGS=<leng
th><CR>
pdu is given
<ctrl-Z/ESC>

+CMS ERROR:<err>

GSMO07.05

1 ctrl-Z

ESC command
ERROR
3 PDU TP-MTI SMS-DELIVER SMS-SUBMIT

SMS-STATUS-REPORT
SMS-DELIVER-REPORT SMS-SUBMIT-REPORT
SMS-COMMAND

7.13 AT+CMSS

Send Message From Storage

AT+CMSS=? OK
AT+CMSS=<index> <index> SMS-SUBMIT
AT 36/64 2003
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[,<da>[,<toda>]] +CPMS <mem?2>
<mr>
+CMSS:<mr>
OK
+CMS ERROR:<err>
GSM07.05
<da> <index> <da>
7.14 AT+CMGW
Write Message To Memory
AT+CMGW=? OK
TEXT +CMGF=1 +CPMS
AT+CMGW[=<o0a/da>[,<tooa/tod | <mem2>
a>[,<stat>]]]<CR> <index>
text is entered <ctrl-Z/ESC> +CMGW:<index>
OK
PDU +CMGF=0
AT+CMGW=<length>[,<stat>]<C :
R> +CMS ERROR:<err>
pdu is given <ctrl-Z/[ESC>
GSM07.05
1 <stat> 2 “ STO UNSENT”
TEXT <stat> "REC
UNREAD” "REC READ”
2 ctrl-Z
3 ESC
command ERROR
4 PDU TP-MTI
SMS-DELIVER SMS-SUBMIT
SMS-STATUS-REPORT
SMS-DELIVER-REPORT
SMS-SUBMIT-REPORT
SMS-COMMAND
7.15 AT+CMGD
Delete Message
AT+CMGD=? OK
AT+CMGD=<index> <index> +CPMS
<mem1l> index=0,
AT 37/64 2003 1
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OK

+CMS ERROR:<err>

GSM07.05
8
8.1 AT+CLIP
Calling line identification presentation
AT+CLIP=? <n>
+CLIP: list of supported <n>s
OK
AT+CLIP? <n><m>
+CLIP<n><m>
OK
AT+CLIP=<n>
OK
+CME ERROR  <err>
RING
+CLIP:<number>,<type>,[[<subaddr>,<satype>][,[alhpa][,CLI
validity]]]
<n> 0
1
<m> 0 CLIP
1 CLIP
2
<number> , <type>
<type>
<subaddr> <satype>
<satype>
<alpha>
<CLlvalidity> 0 CLI
1 CL
2 Cu
<CLlI vadility>=1 2 <number> <type>
GSM 07.07
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8.2 AT+CLIR
Calling line identification restriction
AT+CLIR="? <n>

+CLIR: (list of supported <n>s)

OK
AT+CLIR? <n> <m>

+CLIR: <n>, <m>

OK

AT+CLIR=[<n>]

OK

+CME ERROR: <err>

<n> 0
1 CLIR
2 CLIR
<m> 0 CLIR
1
2
3 CLI
4 CLI
GSMO07.07
CLIR <n>
0
8.3 AT+COLP
Connected line identification presentation
AT+COLP=? <n>
+COLP: (list of supported <n>s)
OK
AT+COLP
+COLP: <n><m>
OK
AT+COLP=[<n>]
OK
+CME ERROR <err>
V.25ter
AT 39/64 2003 1
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+COLP:<number>,<type>[,<subaddr>,<satype>]
<n> 0
1
<m> 0 COLP
1 COLP
2
<number>,<type>,<subaddr>,<satype> AT+CLIP
GSMO07.07
8.4 AT+CCFC
Call forwarding number and conditions control
AT+CCFC=?
+CCFC:( list of supported <reason>s)
OK
AT+CCFC=<reas
on>,<mode> mode!=2
[,<number> OK
[,<type> mode=2 <reason>:0~3
[,<class> +CCFC:<status>,<class1>[,<number>,<type>[,<subaddr>,<saty
[,<subaddr> pe>
[,<satype> [,.<time>]]]
[,<time>]]1111 [<CR><LF>+CCFC:<status>,<class2>[,<number>,<type>[,<suba
ddr>
<satype>[,<time>]]]<...]]
+CME ERROR <err>
<reason>: 0
1
2
3
4
5
<mode> 0
1
2
3
4
<number> <type>
<type> <number>
<subaddr> <satype>
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<satype> <type>
<classx> 1
<time> 5-30 <time>
20
<status> 0
1
GSMO07.07
8.5 AT+CCWA
Call waiting control
AT+CCWA=? <n>
+CCWA: (list of supported <n>s)
OK
AT+CCWA? <n>
+CCWA: <n>
OK
AT+CCWA=[<n>]
[,<mode> mode!=2
[,<class>]] OK
mode==
+CCWA:<status>,<class1>[<CR><LF>+CCWA:<status>,<class2
>[...]] OK
+CME ERROR: <err>
<n>=1,
+CCWA: <number>,<type>,<class>[,<alpha>][,<CLI validity>]
<n> 0
1
<mode> 0
1
2
<class> 1
<status> 0
1
<number> <type>
<type> <number>
<alpha>,<CLI validity> AT+CLIP
GSMO07.07
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8.6 AT+CHLD

Call hold and multiparty

AT+CHLD=? <n>
+CHLD: (list of supported <n>s)
OK

AT+CHLD=[<n>]

OK

+CME ERROR: <err>

<n> 0 ubuB
1
1X X
2
2X X
3
GSMO07.07
1 11
2 X 17
3
8.7 AT+CLCC
List current calls of ME
AT+CLCC=? OK
AT+CLCC
[+CLCC:
<id1><dir><stat>,<mode><mpty>[,<number><type>[,<alpha>]]
[<CR><LF>
+CLCC:
<id2>,<dir>,<stat>,<mode>,<mpty>[,<number> <type>[,<alpha>]][...
111 OK

+CME ERROR: <err>

<idx> GSM 02.30[19]
<dir> 0
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1
<stat> 0
1
2 MO
3 MO
4 MT
5
<mode> 0
9
<mpty> 0
1
<number> <type>
<type>
GSM07.07 OK
8.8 AT+CAOC
Advice of Charge
AT+CAOC =? <n>
+CAOC: (list of supported <n>s))
OK
AT+CAOC? <n>
+CAOC <n>
OK
AT+CAOC=<n> <ccm>
OK
+CME ERROR <err>
<n> 0 <ccm> AT+CAOC
<n> 2 ME CCM CCM
ME +CCCM:<ccm>
AT+CAOC CCM
+CAOC:<ccm>
OK
<n> 0 CCM
1 CCM
2 CCM
<ccm> CCM
* 00001E” 30
GSM
0707_750
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8.9 AT+CACM
Accumulated call meter
AT+ CACM =? OK
AT+ CACM? <acm>
+ CACM <acm>
OK
AT+CACM=<pass <acm> 0
word >
OK
+CME ERROR <err>
<password> PIN2
<acm>
CCM “ 00001E”" 30
GSM
0707_750
8.10 AT+CAMM
Accumulated call meter maximum
AT+ CAMM =? OK
AT+ CAMM? <acmMax>
+ CAMM <acmMax>
OK
AT+CAMM=<acm
Max>,<password>
OK
+CME ERROR <err>
<password> PIN2
<acmMax>
<ccm> <acmMax> 0 acmMax
GSM
0707_750
8.11 AT+CPUC
Price per unit and currency table
AT 44/64 2003 1
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AT+ CPUC =?

OK

AT+ CPUC?

+ CPUC <currency>,<ppu>
OK

AT+CPUC=<curre
ncy=>,<ppu=,<pas
sword>

OK

+CME ERROR <err>

<currency>
<ppu>

( “ RMBH 1 USDH)

( 2.66)

GSM

0707_750

<ppu> GSM11.11

8.12 AT+CCWV

Call Meter maximum event

AT+ CCWV =?

<mode>
+ CCWE: (list of supported <mode>s)
OK

AT+ CCWV?

<mode>
+ CCWE <mode>
OK

AT+CCWV=<mode>

<mode>

OK

+CME ERROR <err>

<mode> 1
+CCWV

ACM
30

AcmMax ME

<mode> 0

GSM 0707_750

8.13 AT+CSSN

Supplementary service notifications

AT+CSSN=?

+CSSN: (list of supported <n>s),(list of supported <m>s)
OK

AT
ZX673.01.1001QE.A
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AT+CSSN?
+CSSN: <n>,<m>
OK
AT+CSSN=[<n>[,<m>]] MO MT
OK
+CME ERROR:<err>
<n>
0 MO <codel>
1 MO <codel>
<m>:
0 MT <code2>
1 MT <code2>
<codel>
2 MO
5 MO
<code2>
0 MT
07.07
9.1 ATD
Dial Command
ATD<str>
ATDP<str>
ATDT<str> CONNECT 9600
v.25.ter
92 +++

Return to online command state from online data state

+++
OK

v.25.ter DCE
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9.3 AT+CHUP
Hangup call
AT+CHUP
OK
V.25ter
9.4 ATO
Return to online data state from online command state
ATO
OK
v.25.ter DCE
95 AT+CR
Service reporting control
AT+CR=?
+CR: (list of supported <mode>s)
OK
AT+CR?
+CR: <mode>
OK
AT+CR=
[<mode>]
OK
+CME ERROR:<err>
< mode> 0
1
07.07
9.6 AT+CRC
Cellular result codes
AT+CRC="?
+CRC: (list of supported <mode>s)
OK
AT+CRC? <mode>
AT 47/64 2003 1

ZX673.01.1001QE.A

V10




LTEPH

AT

+CRC: <mode>
OK

AT+CRC=[<mode>]

+CRING
OK

+CME ERROR:<err>

< mode> 0

1
07.07

9.7 AT+CRLP

Radio link protocol

AT+CRLP="?
+CRLP: (list of supported <iws>s),(list of supported <mws>s),
(list of supported <T1>s),(list of supported <N2>s)[,<verl>
[,(list of supported <T4>s)]]
[<CR><LF>+CRLP: (list of supported <iws>s),(list of supported
<mws>s),(list of supported <T1>s),(list of supported <N2>s)
[,<verl>[,(list of supported <T4>s)]]
[---]]
OK

AT+CRLP?

+CRLP: <iws><mws>,<T1><N2>[,<verl>[,<T4>]]
[<CR><LF>+CRLP: <iws>,<mws>,<T1>,<N2>[,<ver2>[,<T4>]|

[.]]

OK
AT+CRLP=[<iws>[
,<mws>[,<T1> OK
[,.<N2>[,<ver>[,<T4
>]1111] +CME ERROR:<err>
<iws>:0-61
<mws>:0-61
<T1>: 39-255
<N2>:1-255
07.07
AT 48/64 2003 1
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9.8 AT+CBST
Select bearer service type
AT+CBST =?
+CBST: (list of supported <speed>s),(list of supported
<name>s),(list of supported <ce>s)
OK
AT+CBST? +CBST: <speed>,<name>,<ce>
OK
AT+CBST=[<speed>|
,<name>[,<ce>]]] OK

+CME ERROR:<err>

<speed> 7 9600bps
<name> 0
<ce>= 1
07.07
ATA ATH

10

10.1 AT%CBAND

(900,1800,

)

AT%CBAND=?

<n>

%CBAND: (list of supported <n>s)

OK
AT%CBAND? <n>
%CBAND: <n>
OK
AT%CBAND=<n> ,
OK

+CME ERROR: <err>

<n>

900/1800
900
1800

N P IO

AT
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10.2 AT%ON AT+ON

AT%ON ,
(AT+ON) oK

+CME ERROR: <err>

,MMI GSM

10.3 AT%OFF AT+OFF
AT%OFF
(AT+OFF) OK

+CME ERROR: <err>

MZ28
10.4 AT%CSIM
SIM

AT%CSIM="? SIM

%CSIM  <stat>

OK
AT%CSIM? SIM <stat>

%CSIM: <stat>

OK

<stat> =

0 SIM

1 PIN1

2 PUK

3 PIN2

4 PUK2

5 SIM

6 SIM

7 SIM

8 SIM

9 SM

SIM
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10.5 AT+CMPVL
AT+ CMPVL =?
+ CMPVL: (list of supported <level>s)
OK
AT+ CMPVL?
+ CMPVL: <level>
OK
AT+ CMPVL =< |level >
OK
level
+CME ERROR <err>
<level> 1 2
10.6 AT+LED
LED
AT+ LED? LED
+LED: <n>
OK
AT+ LED =<n > LED LED
OK
+CME ERROR <err>
<n> 0
1
10.7 AT+LSD
AT+LSD
+LSD: <time>
OK
+CME ERROR <err>
AT 51/64 2003 1
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10.8 AT ZCDUR

AT ZCDUR=
+ ZCDUR: <0 2>
OK
+CME ERROR <err>
AT ZCDUR?

+ ZCDUR: <timel>,<time2>
OK

+CME ERROR <err>

AT ZCDUR=<n>

OK

+CME ERROR <err>

<timel>:

<time2>:

<n> n=0
n=1
n=2

10.9 %START

%START

%START

10.10 %SMREADY

%SMREADY:<st
ate> %SMREADY <state>
<sreason> =
AT 52/64 2003 1
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10.11 %LMREADY

%LMREADY
%LMREADY

11

<CR> <CR><LF>( <CR><LF>)

11.1

a)
ATD02164708411
OK

b)

AT CLIP 1

OK

RING
+CLIP:"02164708411",129
ATA

OK

c) DTMF
DTMF
DTMF 02164708411 606

ATD02164708411
OK
AT+VTS=6 DTMF

AT 53/64 2003 1
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DTMF

AT+VTS=0

OK

AT+VTS=6

OK

11.2

AT

a)

(
CMGR  CMGL

AT+CSCS="UCS2"

TE UCS2

OK

AT+CMGF=1

OK

AT+CSDH=1

OK

AT+CMGR=1

<CR><LF>+CMGR: "REC READ",
“13601702443",,
“00/05/18,09:20:16+027,129,0,0,8,“+8613800
210500",145,4<CR><LF>
4E00004100420043<CR><LF>

ABC
UCS2

OK

AT+CMGR

AT+CMGL=" REC READ"

<CR><LF>+CMGL:1, "REC READ”,
“13601702443",,
“00/05/18,09:20:16+02",129,4,<CR><LF>
4E00004100420043<CR><LF>
<CR><LF>+CMGL.:2, "REC READ”,
“13601702443",, “00/05/19,08:20:16+02",
129,4,<CR><LF>

4E0000410042<CR><LF>

ABC AB

OK

AT+CMGL

AT+CMGF=0

PDU

OK

AT+CMGR=1

<CR><LF>+CMGR:1,,27<CR><LF>
0891683108200105F0000BA13106712044F
3000800508190026120084E000041004200

1
27
"+8613800210500”

TPDU

TPDU

54/64
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AT

43<CR><LF>

03.40

OK

AT+CMGL=1

<CR><LF>+CMGL:1,1,,27<CR><LF>
0891683108200105F0000BA13106712044F
3000800508190026120064E000041004200
43<CR><LF>
<CR><LF>+CMGL:2,1,,25<CR><LF>
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